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50me ik & 2} S6 1 59. 16| %H— WREVSE
50mE ik & 2 S6 2 1:06.27ih £ %HEH BA (FER)
50mE ik E 3B S6 3 1:11.09|#HE F4&E BRRNJFY
50me ik & 2 S6 4 1:17. 15|58 % WREVSE
50m& ik & 2 S7 1 1:06. 20|88 =& FAIFXSIHYHE
50mE ik & B S7 K¥& 57 B EFSScC
50m& ik & 2 S8 1 1:03.67|% —B& FAIFXSIHYHE




&R YRl | v-Fcsosz | MIBKEIERL | BEER K& B
b0m& ik = E:] S8 2 1:21.51)/h#k £ Will Speed
50mey ik & L S8 EiE =@ BEZ HEDAC
50me ik & 5 S9 1 36.01|BA FER LERLIa4Y
50mey ik & L S9 2 48 89|+ & Will Speed
50mey ik & L S9 3 53.22|MnfkE ##X tiEEHES C
50mIE sk E L SB12 EiE hiE RA REE) Y
50mIE ik EF L SB13 1 45 46 \#% #Hth 3l N
50mIE ik E L SB15 1 39.27|%m 0% HEDAC
50mIE ik E L SB15 1 49 078K =M HEREETKKDE
50mIE sk E L SB21 1 44 03|=R —% FE=ISI)LRX
50mIE sk E L SB4 1 1:32. 50 (L RIA REL) Y
50mIE sk E L SB4 2 1:50.80[;28a ~RLAS|HEHEDAC
50mIE sk E L SB5 1 1:16. 24 |#E &£ REL) Y
50mE ik E 2 SB5 2 1:49 47|82 = I 7K 153
50mIE ik E L SB6 1 1:01. 98 |&t&  Z#t BA (EZRAR)
50mIE sk E L SB6 EiE B % WAREUSH
50mE jk & 2 SB7 1 1:11.65(8L & FAIESHH=
50mE jk & 2 SB7 2 1:30. 77|#8:E X BA BER)
50mIE sk E L SB7 3 1:31. 56|28 #iF FAFESYHE
50mIE sk E L SB8 1 7. 68[ATE &A EFHSscC
50mIE sk E L SB8 EiE E@ EZ HEDAC
50mIE 5k E 8 SB9 1 43.61|E@E %=X FEISHVILX
50mIE sk E 8 SB9 1 1:29.81|8K FHERE FAIESHH=
50mIE sk E 8 SB9 2 47.96\ ik 5% BA (E™)
50mIE 5k E 8 SB9 EiE WA W BEEEKKH=
50mIE ik & 8 SB9 KIE FE EZ BA (BRNE)




